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General Instructions :
Q) All questions are compulsory.

- (i)  This question paper consists of four Sections A, B, C and D. Section A
- contains 8 questions of one mark each, Section B is of 10 questions of two
marks each, Sectwn C is of 9 questions of three marks each and Section D A

isof 3 questzons of five marks each.

(iit)  There is no overall chozce However, an internal choice has been provided
inone questzon of 2 marks, one question of 3 marks and two questions of
5 marks weightoge. A student has to attempt only one of the alternatives

in such questions.

(iv) Wherever necessary, the clzagrams drawn should be neat and properly
labelled
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Tz A
SECTION A

1. Tt stE W UV-B i w1 T 5@ 2 .
State theeffect of UV—B on human eye.

2, qﬁ%ﬁﬁzﬁv{mﬁmﬁﬁ ﬁﬁqﬁaﬁm&ﬁwww ﬁ‘ﬁ{m?ﬂ

~ m fafeT | 1
Name a photopenod’ dependent process, one each in plants and in ‘
animals.

3. GEAC T %01 % i WA ThR %1 1 3e¥ Tel 8, e | - g

State the purpbse for which the Indian Govérnment has set up GEAC.

4 e (eﬁqvﬁmﬁ)mﬁéﬁmﬁmmm@ﬁma;m%a |
UET ST R 7 1

~ How does an alien DNA gain entry into a plant cell by ‘blohstlcs method ?

| 5 'ﬁﬁ?ﬁ&j@hmﬁumﬁﬁmﬁﬁ?aﬁml L | 1

~ State the functions of mast cells in allergy response.

6. T TR g g R fu e e R e i & e el gem e 7 v
T % INUR T R wa i e g = mn swe am R | 1

‘What did Louis Pasteur’s experiment on ‘killed yeast’ demonstrate ? Name
~ the theory that got disproved on the basis of his experiment.

7. Hlvﬁaaé&%@mwmm‘ﬁgagﬁm’ (@W)@%&Wi
| iatid g1 S & fr@ it 55 3 waferd fepar on 2 1

How does the flow of genetic information in HIV deviate from the ‘Central
dogma’ proposed by Francis Crick ?

8. wm%&ﬂm@ﬁwwwﬁ%mﬁmﬁ%ﬁmmaﬁﬁm@ .
1 STTEERAl B0 ? S A 7 1

How many microspore mother cells would be requlred to produce one
hundred pollen grains in a pollen-sac ? And why ?
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SECTION B

Th Ue o1 SRt TeTe TSt T U qeed SeEeRi He & N9 R w0
i e & qe O X AewT S W % 9 fred fieh st o
7, o9 T wH W Fzmﬁmwﬁﬁﬁwm@ﬁ l
With the help of a Punnett square, find the percentage of heterozygous

1nd1v1duals in a Fy population in a cross involving a true breedmg pea

~plant with green pods ‘and a true breeding pea plant with yellow pods

-respectively.

(a) HHEY WR A WE@W@@ mﬂfﬁaﬁ e oo AR 3T
t{mf'\erﬁam
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(a)  Name one primary and one secondary lymphoid organ in the
human body.

(b)  How do they differ in their functions ?
b OR
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Identify A, B, C and D in the table given below.

Crop  Variety | Resistance to disease

Wheat E Leaf and stripe rust
: Pusa / :

Shubhra ~ Black-rot
Cowpea | Pusa Komal

Brassica Karan Rai E):]

N

1 iAo R W 2

How does ‘starter’ added to milk help it to set into curd ?

12. (@ aﬁésﬁaaﬁq@ﬁamﬁﬁﬁ-ﬁﬂﬁmmﬁ%mawm

T B, ITehT T T | , |
(b) Gﬂaﬁﬁﬁwﬁqam%sﬂmw:ﬁﬁwﬁﬁm-ammmﬂmm
TraieRr foRan 8, fofeT | | e 2
(a) List the biotic components an organism interacts with in its
natural habitat. ; :
(b) Mention how have organisms optimized their survival and
reproduction in a habitat. '
13. g % % @ & 1 At (gfe-witzm) I gl 2 ? WRA b R
Q1 e s AW AT | | , 9

- Why are certain regions on the Earth called hof—spots ? Name any two
hot-spots in India.

14, w?ﬁﬁ:ﬁﬁmmﬁqw?@@ﬁmm%ﬁaq | RO SAd §T
| TEST TR R T ST ST WA @ 99 T | | 2

Name the units of vegetative propagation in water hyacinth. Explain
giving reasons why it has become the most invasive aquatic weed.
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15.

16.
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Why are Mosses and Liverworts unable to complete their sexual mode of
reproduction in dry condltlons ? Give reasons.

W‘gﬁrﬂ&»lquﬁ\*lﬂfﬁ&qﬂlﬂﬁﬁ%ﬁﬁﬁmwﬁﬁwwm
22

Write the importance of bagging of unlsexual flowers in crop improvement

. programme

17.

18.

19.
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Draw a labelled diagram of a human blastocyst. How does it get implanted
in the uterus ?

‘Cu-T’@aﬂﬁwﬁnﬁﬁﬁ%%wﬁm SRR T AT B 7
How does ‘Cu-T’ act as an effective contraceptive ?
s ©
 SECTION C |
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(a)  Mention the property of plant cells that has helped in growing
crops by tissue culture. : ,

(b)  Explain how it is possible to grow on a commercial scale :
(i) Banana crop

(i1)  Virus free crop plants from virus infected good quality crop
plants
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(a) WolleR WY
(b) T
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Explain the role of the following in increasing the soil fertility and crop
yield : ’ Lo

@ Leguminous plants

21.

22.

(b)  Cyanobacteria

(c) Mycorrhizae

39 deheleh I ATH %@Q@WWWWDNA@@W?W@
Ty for < 2 | 3

Name and describe the technique that helps in separation and isolation of
DNA fragments. ‘

(a) 3@ A (m)mwwﬁw%wwﬁwﬂnﬁm@m% 3R

m&x‘aﬁnﬁamﬂt%mmm%ﬁw%ﬁgﬂmﬁﬁmmé |

(b) wm%amWwﬁmﬁ%%WﬁWI 3

23.

(aj Name the agent that causes amoebiasis and the human body orgah ‘
that it infects. '

(b) Write the symptoms and the mode of transmission of the disease.

w@w(@ﬁmﬁ)ﬁﬁm%vmsﬁmwmmw
TR 2 ; 3.

‘What is eutrophication ? How does a lake undergo accelerated

57/2/2

eutrophication ?
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24, %m?ﬁﬁmﬁfé%%wﬁgﬁqaw%aﬁﬁsﬁ mﬁaﬁwm
few 9, 3 ofa sawET | 3

- Differentiate between the explanatlons given by Darvvln and de Vries
respectively on the mechamsm of evolution.

25. WWWWWMH%WM&@WW%BDNA@W&WW
2 | 3

Describe the experiment that proved that DNA is the genetic material.

26. ST ¥ iR (mgmw) i RNA ifme & ‘qﬁm % fwm d
. GEssy | | 3
Explam the role of RNA polymerase in transcription in bacteria
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Draw a transverse sectional view of an apple and label the followmg parts
~along with their technical names : '

(1) edible part

(i1) . encloses the embryo

(i)  forms the fruit wall
| OR
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28.

(a)

()

(a) -

(b)

(a)
(b)

(@

(b)

(a)

(b)

571212

Draw a sectional view of human ovary and label

(i) Primary follicle

G Graafian follicle

(iii) 'Corpus luteum

Mention the effect of pituitary hormonesa on the Iﬁarts labelled.
@Wig D

SECTION D
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Explain the role of EcoRI in the formation of recombinant DNA.

Explain insertional inactivation used in the selection of
recombinants in biotechnology experiments.

OR

List any four beneficial effects of GM plants.

Explain how has Bacillus ;hufingiensis contributed in developing
resistance to cotton bollworms in cotton plants.
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While planning and organising any celebrations or functions a large
quantity of paper is used in the form of writing pads, file covers, elaborate
invitation cards, decorative posters, gift wrappings, paper plates, etc. After

 the function is over the bulk of the used paper gets dumped into the

dust-bins.
(a)  Write your comments on such a paper usage.
(b)  Give your suggestions :

(i)  How would you reuse the paper effectlvely that got dumped
¢ into the dust-bins ?

(i) In which two alternative ways would you have liked to use
the paper for such functions and celebrations ?

 (¢)  Explain the long term effects of such practices on the environment.
30. (a) IAIBGﬁtﬁmqmﬁaﬁTﬁwww@%ﬁantmﬁwﬁsg%%m
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(a)

(a)

®)
o (e)

Write the blood group of people with genotype I21B. Give reasons
1n support of your answer. :

In one family, the four children each have a different blood group.
Their mother has blood group A and their father has blood group
B. Work out a cross to explain how it is possible.

OR

Explain “founder effect”.

State Oparin and Haldane Hypothems

Describe Stanley and Miller’s experiment and give 1ts 31gn1ﬁcance
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